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Summer Review Packet for 8™ Grade Accelerated |
Students Going into Advanced Geometry

The following topics were covered in 8" grade accelerated math. They are important for the foundation
of advanced geometry.

**¥|t is important that students be able to work these problems independently. If outside help is
received, it should be on similar problems covering these concepts. It would be beneficial for different
problems to be used for examples and/or practice. ***

Solving Equations

1.3(x+1)—-5=5x-2

2% 3-S=9x-2

(=0

2. 4(2x - 8) = 3(2 - 3x)
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3.8(b+1)+4=3(2b—8)-16
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Graphing Lines

*Although we covered slope-intercept, standard, and point-slope form, slope-
intercept form is the main form used in geometry*
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1. Graph y =5x—6 2.Graphy = —x
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3. Write the equation for the line. 4. Write the equation for the line.
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1. Solve using substitution
y=5x—3
—x+ 7y =-21
- X+ (532!
- +35¢-21=-11
ux=0

=0 .
3. Solve using elimination
(-3x-2y=-2)1

Systems of Equations

2. Solve using substitution

4. Solve using elimination

?f+y=6 ~4xtd:b
4x + 3y = +2
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1. Simplify: /180 2. Simplify: 44/90
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1.2b% +17b = =21
2b* +1Fb 12120

(2t Dbt =0

Solve by Factoring

2.5p? —p—18=0
(5ptN(p-2)* 0
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Solve by Factoring Continued

3.x2—16x+63=0 4.16x2 — 121 = 0 Jl/ A\
=/
X=9)¥-3 =0 (4 ) uedn) =0 I A ) |

5.4x3 +43x7+30x =0 6.10m?+89m =9
X (4xt 43 0 +30)=0 E x=0-"M ,‘"’\ 0m*48Am=-9=0  [m= Y,
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X (MxE3)x+10) = 0 Clom-10 (m $+4) =0 Jq
7.5x2 —-30x=0 8.20x3 —45x2 =0
Sx (x-9)= 0 5y (4%x-9)=0
{=0_ 6] Xz0, /s
— Completing the S'qtrare——’)
1.p? + 14p — 38 = 033 ¥ 9. 92 4 fp— 59 = 051
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Write answer in simplest radical form when necessary. 07— {-1‘1
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3. Aladder is leaning against the side of a house. It reaches 10 meters up the
wall. If the base of the ladder is 3 meters away from the house, how tall is the
ladder? 10 2t t102=x" ~
M 10.494m
A *=109 (¥ "]
4. Would the side Iengths 15, 20, and 25 make a right triangle? |S© t*
%S

5. Would the side length 20, 21, and 22 make a right triangle? 20t 41 1= ;{zz"‘
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